

Answer Sheet: Online Examination

Roll No.:	16010121045	
Course	AM-1	Page No
Date	21/12/21)

Name of the student: Pargat Singh Dharjal

Signature of the student: *Pargat*

Q1)

1.1) c) $\operatorname{cosech}^2 x - \coth^2 x - 1$

1.2) c) $2 \sin(\alpha - \beta)$

1.3) b) $\pi/2$

1.4) b) 1

1.5) ~~b) $i(A - A^0)$ is skew Hermitian.~~

1.5) c) For Hermitian Matrix $A \bar{A} = -iA^T$

Q2)

b) $\cos(u + iv) = x + iy$ (given) \rightarrow ①

$$(1+x)^2 + y^2 = (\cosh v + \cos u)^2 \dots \text{(To Prove)}$$

$$x + iy = \cos u \cos iv - \sin u \sin iv \quad (\text{From 1})$$

$$x = \cos u \cosh v \quad (\because \cos iv = \cosh v)$$

$$y = -\sin u \sinh v \quad (\because \sin iv = i \sinh v)$$

$$\therefore (1+x)^2 + y^2 \dots \text{(LHS)}$$

$$(1 + \cos u \cosh v)^2 + (-\sin u \sinh v)^2$$

$$1 + 2 \cos u \cosh v + \cos^2 u \cosh^2 v + \sin^2 u \sinh^2 v$$

$$1 + 2 \cos u \cosh v + \cos^2 u (1 + \sinh^2 v) + \sin^2 u \sinh^2 v$$

$$1 + \cos^2 u + \cos^2 u \sinh^2 v + \sin^2 u \sinh^2 v + 2 \cos u \cosh v$$

$$1 + \cos^2 u + \sinh^2 v (\cos^2 u + \sin^2 u) + 2 \cos u \cosh v$$

$$1 + \cos^2 u + \sinh^2 v + 2 \cos u \cosh v$$

$$1 + \sinh^2 v + \cos^2 u + 2 \cos u \cosh v$$

$$\cosh^2 v + \cos^2 u + 2 \cos u \cosh v$$

$$\text{LHS} \Rightarrow (\cosh v + \cos u)^2$$

$$\text{LHS} = \text{RHS} \quad (\text{Hence Proved})$$

Answer Sheet: Online Examination

Roll No.:	16010121045	
Course	AM-1	Page No
Date	21/12/21	2

Name of the student:

Pangat Singh Dhanyal

Signature of the student:

Pangat

Q2)

$$c) \quad a \cos \alpha + b \cos \beta + c \cos \gamma = a \sin \alpha + b \sin \beta + c \sin \gamma = 0 \quad (\text{given})$$

$$a^3 \cos 3\alpha + b^3 \cos 3\beta + c^3 \cos 3\gamma = 3abc \cos(\alpha + \beta + \gamma) \quad (\text{To Prove})$$

$$\text{Let } a(\cos \alpha + i \sin \alpha) = X$$

$$b(\cos \beta + i \sin \beta) = Y$$

$$c(\cos \gamma + i \sin \gamma) = Z$$

$$\therefore X + Y + Z = 0 \quad (\because \text{sum of real part} = 0 \\ \text{sum of imag part} = 0)$$

$$(X + Y + Z)^3 = 0$$

$$(X^3 + Y^3 + Z^3) + 3(X+Y+Z)(XY + YZ + ZX) - 3XYZ = 0$$

$$X^3 + Y^3 + Z^3 - 3XYZ = 0$$

$$X^3 + Y^3 + Z^3 = 3XYZ$$

inserting values

$$a^3(\cos \alpha + i \sin \alpha)^3 + b^3(\cos \beta + i \sin \beta)^3 + c^3(\cos \gamma + i \sin \gamma)^3$$

$$= 3abc(\cos \alpha + i \sin \alpha)(\cos \beta + i \sin \beta)(\cos \gamma + i \sin \gamma)$$

By applying De-Moivre's Theorem

$$a^3 \cos 3\alpha + i a^3 \sin 3\alpha + b^3 \cos 3\beta + i b^3 \sin 3\beta + c^3 \cos 3\gamma + i c^3 \sin 3\gamma$$

$$= 3abc \cos(\alpha + \beta + \gamma) + i 3abc \sin(\alpha + \beta + \gamma)$$

On comparing Real Parts.

$$a^3 \cos 3\alpha + b^3 \cos 3\beta + c^3 \cos 3\gamma = 3abc \cos(\alpha + \beta + \gamma)$$

Hence Proved.

Answer Sheet: Online Examination

Roll No.:	16010121045	
Course	AM-1	Page No
Date	21/12/21	3

Name of the student: Pargat Singh Dhanjal	Signature of the student: <u>Pargat</u>
--	--

$$Q3) a) \quad A = \frac{1}{9} \begin{bmatrix} a & 1 & b \\ c & b & 7 \\ 1 & a & c \end{bmatrix}$$

Orthogonal matrix $AA^T = A^T A = I$

$$A^T = \frac{1}{9} \begin{bmatrix} a & c & 1 \\ 1 & b & a \\ b & 7 & c \end{bmatrix}$$

$$AA^T = \frac{1}{81} \begin{bmatrix} a & 1 & b \\ c & b & 7 \\ 1 & a & c \end{bmatrix} \begin{bmatrix} a & c & 1 \\ 1 & b & a \\ b & 7 & c \end{bmatrix}$$

$$= \frac{1}{81} \begin{bmatrix} a^2+1+b^2 & ac+8b & 2a+2bc \\ ac+8b & c^2+b^2+49 & 7c+ab \\ 2a+bc & 8c+ab & 1+a^2+c^2 \end{bmatrix}$$

$$AA^T = I$$

$$\therefore a^2+b^2=80$$

$$ac=8b$$

$$c^2+b^2=32$$

$$a^2+c^2=80$$

on solving we get.

$$a = \pm 8, \quad b = \pm 4, \quad c = \pm 4$$

Answer Sheet: Online Examination

Roll No.:	16010121045	
Course	AM-1	Page No
Date	21/12/21	4

Name of the student: Pangat Singh Dharyal	Signature of the student: <u>Pangat</u>
--	--

Q3) b)

$$x_1 = [1 \ 2 \ 1], x_2 = [2 \ 1 \ 4], x_3 = [4 \ 5 \ 6], x_4 = [1 \ 8 \ -3]$$

$$\text{Let, } k_1 x_1 + k_2 x_2 + k_3 x_3 + k_4 x_4 = 0 \rightarrow \textcircled{A}$$

$$k_1 [1 \ 2 \ 1] + k_2 [2 \ 1 \ 4] + k_3 [4 \ 5 \ 6] + k_4 [1 \ 8 \ -3] = 0$$

$$[k_1 \ 2k_1 \ k_1] + [2k_2 \ k_2 \ 4k_2] + [4k_3 \ 5k_3 \ 6k_3] + [k_4 \ 8k_4 \ -3k_4] = 0$$

$$k_1 + 2k_2 + 4k_3 + k_4 = 0$$

$$2k_1 + k_2 + 5k_3 + 8k_4 = 0$$

$$k_1 + 4k_2 + 6k_3 - 3k_4 = 0$$

Homogenous system
of equations

$$\begin{bmatrix} 1 & 2 & 4 & 1 \\ 2 & 1 & 5 & 8 \\ 1 & 4 & 6 & -3 \end{bmatrix} \begin{bmatrix} k_1 \\ k_2 \\ k_3 \\ k_4 \end{bmatrix} = 0$$

$$R_2 \rightarrow R_2 - 2R_1$$

$$R_3 \rightarrow R_3 - R_1$$

$$\begin{bmatrix} 1 & 2 & 4 & 1 \\ 0 & -3 & -3 & 6 \\ 0 & 2 & 2 & -4 \end{bmatrix} \xrightarrow{C_2 \rightarrow C_2 - C_3} \begin{bmatrix} 1 & -2 & 4 & 1 \\ 0 & 0 & -3 & 6 \\ 0 & 0 & 2 & -4 \end{bmatrix}$$

$$\therefore \text{Rank}(A) = 3 < 4$$

\therefore There are infinitely many non trivial solnⁿ

Answer Sheet: Online Examination

Roll No.:	16010121045	
Course	AM-1	Page No
Date	21/12/21	5

Name of the student:

Pangat Singh Dhanjal

Signature of the student:

Pangat.

$$k_1 - 2k_2 + 4k_3 + k_4 = 0 \quad \rightarrow \textcircled{1}$$

$$-3k_3 + 6k_4 = 0 \quad \rightarrow \textcircled{2}$$

$$2k_3 - 4k_4 = 0 \quad \rightarrow \textcircled{3}$$

putting $k_4 = t$ in equ $\textcircled{3}$

$$k_3 = 2t$$

$$k_1 - 2k_2 + 8t + t = 0$$

$$k_1 - 2k_2 = -9t$$

~~using range as A~~

\therefore The vectors are linearly dependent.